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ach objective type question as A, B, C and D. The choice which you think is carrect; fill that circle in front of that

question number in your ariswer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.
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1. | For a reaction between H2 and 12 to form 2HI mol dm mo]‘ldm_3 mol"dm3 Nounit
the units of Kc are:
; - o | KNS [P SN e 7T A SHE e s
?auﬁ’.:,/uugvufa,ufuu“’éutrg & J’( » ]
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2 .
Which one of the given statement is not correct rate of reaction is| ~active massis | active massis active mass mean
directly taken in molar represented by total mass of
about active mass? proportional to concentration square brackets substances
active mass
. :ﬁ;uigdzukjjfyuf/:ikl &_lzul.')l/ gf{ulc}v Sl st Sl
o |4 reaction between an acjd and a base produces: salt and water salt and gas salt and acid salt and base
?;Adﬂwufc_uu'ﬂ{_fu!
CH,~-CH,-OH CH, - COOH CH,CHO CH,COCH.
* | ‘which one of the given cdmpound is an aldehyde? s 2 3 3 2 ?
& ¥ & o < R R
4 ¢w34d,5rgﬁiﬁgfu:?dl "/"’J’f’ d[d‘f J’f’dlf A/.J.,Ql
5. ; . . ;
The end product, of oxidatjon of acetylene is: Oxalic acid Glycol Glyoxal Acetic acid
; L | b E i 4 ok
U g e e GRS | B iz Lok S
6. .
Halogenation of methane does not produce: carbon tetrachloride) chloroform carbon black chloromethane
P AT R W oK i e Bt
7.
Which one of the given is p reducing sugar? glucose maltose sucrose starch
S UL v e Ut | SR St Bt e Bl ] it S
8. | Which one of the given is fiot a Greenhouse effect? increasing increasing food | increasing flood | increasing sea
atmospheric chains risks level
temperature
Yrekis e U e S VI e ps§ i -4 Y (T4 ey e s
el
9.
Buildings are being damagell by acid rain because it calcium sulphate | calcium nitrate |calcium carbonate calcium oxalate
attacks:
o I W
| P ST AN PR rete vy . e
{ 10. | Which one of the given dis¢ase causes liver typhoid jaundice cholera . hepatitis
’ inflammation?
} ~e b AU s R r/fu'i'}:fu Libd s e (S e Py I wr Sy
I 11 i the bessemerization procgss: roasted ore is | molten matte is | molten matte is | molten matte is
| heated removed heated added
P ” o 7 Z T S H
! _c‘:.q/’b/‘f/w/p(ﬂl{f u’:u):} NSy uff}l’a('/ et 3
12. Concentration of the copper| ore is carried out by: roasting froth flotation distillation

calcination
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(Section — 1 Jil.»)
2,  Write short answers tp any five parts. (5x2=10) -’4{4]’ ..‘:I..Li:ﬁ? ﬁ,‘?.lég:—éf -d
i. Define chemical equiljbrium state. -Z:_g/."gf&bd/ﬁ'/d:fldé‘{ .

ii. Write down two characteristics of reversible reaction. & ;,_l:orj ud/ d:'g’d/(_}ff 24 i
lil. Write down the equilibrium constant N, +3H, = 2NH, Hh L E sk £ FEUG L s il
expression for the given reaction. 18 & ) &

iv. Why H*ion acts as a|lewis acid? St b Lidgdud o TH v
v. Write down any two james and formulas of mineral acids. 9y J..r;timrw./.}lr.{ld/"ucéf v
vi. Define acid and base pccording to Arrhenius concept. -Z{.;d /'" J uf/;f}rﬁ!&lk»z:,}f L% i
vil. Define molecular formula with an example. -é._y /7 Jers)ggt“;;}Lth'_g Vi
viil. What is functional gropp of ester? PP ey J}a g -viil
3.  Write short answers te any five parts. (5x2=10) -’q‘i}/n .:,g!,z,f:’ L,ﬁ?.fég:.éf -3
i. Why are the alkanes ¢alled paraffins? ‘.’u;JM UL a5 L
ii. Why are alkenes reactive? Yuj&n}gd/u[;.g;ﬂ Al
iii. How are alkyl halides feduced? Sl LUt i S i
iv. Write down two chaquteristics of monosaccharides. -é 4/“ c,gm; 3] d/ J}.{—i; iy v
v. Write structural formufa of fructose. _a‘fur/w{ F i v
vi. Why acid rain damages buildings? € Bt U Ul S UT A4 i
vii. Define Ozone. Sy il
viii. How does acid rain indrease the acidity of soil? Y;.(}/)Lﬂg)ﬁ&{d’&jﬁ]b}f@/kl Vil
4. Write short answers tg any five parts. (5x2=10) ey .;gl.e/’f" Z_,leégc_df -4
i. What is the function of fertilizers? g“_._rgg( iy A
ii. What do you mean by| industrial effluents? ?‘aﬂ/y/ r.u'b‘ ;:.L’IJ_ A
iii. Explain fiuorosis? T Vel B
iv. Define hard water? “Ew M v
v. How is roasting carried out? ‘.’4;.3!;(,( 4:[..&«;/ RY}
vi. Define gangue? -é_.y/'"J.ﬁf i
vii. How ammonia (NH,)is|prepared by Haber’s process? ?‘4.{3‘?(5/1?4 (NH,) grm&) LA bovii
vill. How NaHCO, is converted to Na,CO, ? fe bl U4 U Na,CO, <L S NatiCO, il

Section — I 9
Epch question carrles Nine marks. (5+4=9) ALy,
5. (a) What are salts? Alsp write the characteristics of salts. oS et S e e e (i 5
(b) Write the uses of acetylene. Ay L A (<)
6. (a) Define functional grpup. Write a note on any four _g_ﬁ,,}év,jjfj,l:g/_g_:_wn{%/jf" () -6
functional group.
(b) What are polysaccharides? Give their properties. <& c:«gcr". J ul?uggf J,t’l; Jg (=)
7. (a) Explain Greenhouse jeffect and Global warming. _féwu’d/.ﬁji;g},;gz;laf?.tu@qf (<) -7
(b) Describe any four waterborne infectious diseases. -éugugjl.gd»%wf (Jbi..n'gc..?)d/&& (=)
A 115-221-A-48500
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QuestLons Ity

QA1 A B Cc D
B ILK VP L LLPCl e 1 wiPCl,
-3 = -3 -1 3 3
1. | For a reaction betwedn PCl; and Cl, to form | mol dm mol™ dm mol " dm mol dm
PCl, the units of K dre:
o cengh ot igjdﬁgufééﬂrwég,
2 2Aq) +By ¥=3Cy, | [2A1B] (A1) ] L
: ' [3C] [C] [2A][B] [AT[B]
For the reaction 2A(g) - B(g) = 3C(g)
The expression for the aquilibrium constant is:
S 2 A T . -
3 ety g NH, HCO, 50,
L Which one of the given $pecies is not amphoteric? '
et
4. CH,, CH,, CH,, CsH g
The formula of pentane js:
R S el | Y JUki hire Sk
5. | Which one of the given ¢compound is a saturated Methane Ethyne Propene Propyne
hydrocarbon?
-Dﬂisgau%f}ﬁéuﬁﬁ fi/l‘/’éd}b’ r;ﬁu}g v_@w.zb’ U-:;J:Jub/
6.
Halogenation of Methang does not produce: carbon tetra chioroform carbon black chloromethane
chloride
3 5 > 3 s
e ANt o | oy Y s
7.
Which one of given is a triglyceride? carbohydrates protein lipids vitamins
S LGS i
I 8. H,80, Co, CcO SO,
! Which is secondary pollﬁ;tant?
[
i 58 TL S AL e SRP UL .
é i Y s/ 8/, A ki
| o -
Ii Acid rain affects the aqugtic life by clogging fish gills Lead Chromium Mercury Aluminium
| because of mefal.
I , : R
|' tebre o0 iS4
| 10. Ca(HCO;), CaCo, MgCo, MgS0,
: Temporary hardness is Hecause of:
Uy AT
1. Cqu CuFeSz CuS FeS
; The chemical formula of popper pyrite is:
: ¥ b‘dbd..f:.uiuﬁ‘L el uffCO2 e iufrios
1. ‘<t NaHCO, NH,HCO, Na,Co, (NH,), CO,

When CO, is passed thlough the ammonical brine,

the only salt that precipit

ateis_
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vii.

viii.

. Write down uses of Ma

ii. Whatis a carboxyl groy

. Write down the dot and

i. Write down two uses of
iii. What is incomplete corn

. Lactose is a disacchari

i. What are primary pollu
ii. Write down two charac

. What is ozone depletio
. Why the water molecul

iil. Write any two disadvan

. What is anode mud?

(a)
(b)
(a)

(b)

(a)
()]

Write short answers to pny five parts.

Define chemical equilil
What is the relationshif
Write down the equilibri

expression for the given

Define Bronsted-Lowry

rium state.

tm constant

reaction.

iv. Why H"ion acts as a Liewis acid?

hinesium Hydroxide.

Write short answers to Fny five parts.

How alkenes are prepa

Write two fatty acids wi

red from alcohols?

acetylene.

h their formuiae.

Write short answers to Lmy five parts.

Define waterborne infe

Define mineralis.

Write any two raw matq

e is polar?

i. Differentiate between spft and hard water.

tages of hard water.

ttious diseases.

y. Attempt any two questions from section ii.

,ég 4 .:.«UleMr»¢G/¢.uf-(»/ 4G eisd

(Section—1 Jil.#)

(5x2=10)

between active mass and rate of reaction?

CO +3H, = CH,  +H0

base, give an exampie also.

p? Write down the formula of Acetic Acid.

cross formulae of propane and n-butane.

(5x2=10)

nbustion of methane gas? Give a reaction.

tle, which monosaccharaides are present in it?

ants? Explain with an example.
eristics of stratosphere.

h? Where was it noticed first time?

(5x2=10)

rials of Solvay’s Process.

What is the role of pinejoil in the froth flotation process?

Define functionai gr
identification of alcd

amino acids.

Define acid rain and

-ég iz L'lzlék..(}f 22
oy Sl sk
s P il Fasmsbd i
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Section-1i C”""’

Each question carries Nine marks.

Describe physical poperties of alkanes.

holic group.

give its four effects.

Explain the Lewis concept of acid and base with example.

bup also write two tests for

Differentiate betweén essential amino acids and nonessential

Explain extensive hydrogen bonding ability of water.
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